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BIOLOGY

GENERAL INSTRUCTIONS
Examinee s directed to read carefully the following
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ingtructions :

"

. Examinee must write hisfher Rell Number in the

specified box on the top left hand camer of this page.
Answers are required to be marked only on the
Computerised O.M.R. Answer sheet which is being
provided to the examinee.

. Besides filling In the Roll Number, the examinse has

to put his/her signature on the Answer-Sheet and also
fill other required details like Name, Roll Number,
Question Booklet code, elc. as indicated on the OMR
Answer Sheet. If these details are not fillsd in by the
examinee, his‘her Answer Sheet will not be evaluated.

. For each question, there are four alternative answers,

out of which only one is corract. Examinee must darken
the circle of corract eption in the Ahswer Sheel by

. Black Ball Pen only.
. There are 24 (20+4) pages In this Question-Bookist

Including 1 page for General Instructions and four
blank pages for Rough Work in the last. In case_an
examinee receives an incomplete or defective
Question Booklet, he/she:should make a request 1o
the Room Invigilator to'change the same within 10
minutes of start of the exam.

. This Question Booklet contains 50 questions from

following subject :

(1) Biology Q. Nos. 1-50

. Each question carries 1 mark and % mark will be

deducted for each wrong answer,

. Possession and use of electronic devices such as

Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, elc., are restricted during the examination.

. Any leaf from the Question Booklet should not ba

detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over to the Room
Invigilator,

. During examination the examinee will not be allowad

lo leave the examination hall till the END of the
Examination.
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1.

2.

One of the agricultural practices of
breeding and raising livestock is
called

B) Dairy/farm:management
C) CGross'breeding

D) Animal husbandry

Mule is a cross breed obtained by
crossing

A) male horse and female zebra .
B) male donkey and female zebra

C) male horse and female donkey

D) male donkey and female horse

3. Identify two rice varieties used to

develop semi dwarf variety of rice
A) IR-8 and Taichung native-1
B) Sonalika and Kalyan ‘Sona
9. mem and Ratna

D) Kalyan Sona and Jaya

1. S Heiefi w1 vem 3 o i

1 5

A) uxifafreat fagm
B) TR HEeH
C) W SoFH

D) T

2. TR O G § YT 8, 6 g T e §

A) =gt iR ATt e
B) e 37T "rer s

. C) Hrer sl TR

D) e 3t wEh

3. 3 =T F Nel Bl Fard g Y S F"

CECIRS

3 IR-8 3K 3gm Aféa-1

B) @rfetent 3R Heamn g
Qmﬂ%ﬂ_

D) e GHT I ST

—

Page No. 3

w 5CEB

geDekho

“=YisitColl

e —————



https://www.collegedekho.com/?utm_source=resource&utm_medium=footer&utm_campaign=hyperlink

| ER G

4. Which one of the statements regarding 4, T Y DI 1 I TR Y9 % e
asexual reproduction is false ? .

TR’

A) Offsprings are similar to their . ) . | o
nalorts A) waf rar-far S 8 2

B) Reduction division takes place B) 3¥cifies S & SN WoHA favTsH
during asexual reproduction -

C) Offspring do not show variation C) waf § =5 v 7 S

D) Zygote formation does not take .
iaoa D) FHI TS STET Brl

5. Match the Column | with Column Il and .. .
select the correct option from the choice 0 E=ilG __mﬂ&ﬂuﬂ&mnmﬁwﬂﬂwmu

below :

a =l wall
Column | Column Il
a. Ui i. SR
a. Polyembryony i. Commelina
b. sHftEg ii. UG

b. Diocecious ii. Grass

c. FeiRmEE iii. TR
d. IR iv. faea

c. Cleistogamous iii. Date paim

d. Apomixis iv. Citrus

a b ¢ d
a b ¢ d

A) (V) (i) () (i) A @) GGy @

B) (V) (i) () () | Bm@ @0
cy () () (v) @) o)) ) v G
D) @) (v & @) D) (i) (v) @ G
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6. Zoospore is a 6. e Shaw] (FFAR) Th
A) haploid non flagellated spores A) I TR STy
B) haploid flagellated male gametes B) IO SHITENT L IHeh
C) haploid female gamete C) smfSrd areT TH
D) haploid flagellated spore D) ﬂ%ﬂﬂﬂmﬂmﬂm@

7. The list of agents of pollination and the = qror 3 srf iy qe e @ av FEATA
technical words used to describe the GfE T g G T A
pollination are given below. |dentify the o MWH |
correct um:m NE

A) ATl IR T
B) @riifteelt &l T
C) anffefreft =g T

A) Malacophilly Pollination by snails
B) Entomophilly Pollination by birds
C) Ornithophilly Poliination by winds

D) Anemophilly Poliination by animals D) whtefeeft  snftr s

8. T98 q I U 9Ty e ® 7

8. Which of the statements is correct ?

A) cleistogamous flowers always A) TR el WeT W i
exhibits autogamy | T § _
B) chasmogamous flowers always B) 3w ot war AR 1 IR 8
exhibit mms.ozom_maw. C) wfEamy & |3l w=mitEr 99
C) cleistogamous flowers exhibit both N = wia §
autogamy and geitonogamy D) el gt et sft wmidn =
D) chasmogamous flowers never eI

exhibit autogamy .
\ . ﬁ Page No. 5 w mom,,m
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9. One of the ex situ construction methods
for endangered species is

A) Wild life sanctuaries
B) Biosphere reserves
C) Cryopreservation

D) National park

10. IUCN stands for

A) International Union for Nature and
Natural Resources

B) International Union for
Conservation of Nature and
Natural Resources

C) International Union for
Conservation of Natural
Resources

D) International Union for
Conservation of Nature

11. rDNA is u.ﬂoa_._omn by joining
A) one mRNA with a DNA segment
B) one mRNA with plasmid DNA
C) two RNA molecules
D) one mRNA with a polypeptide

SR

9. rasm wfedi & 1T ex sity Frafor ugfiy 2
A) TS ST
B) i Hew wen
C) e
D) U Iem

10. IUCN &1 werers 2

aﬁﬂﬂﬁmmﬂ%wﬂmﬂﬂaﬁ
feirda

B) YewierTer g B sdem one S
His =g frdida

C) FeHTIe I wit wradym o
e ferda

D) $eieret g i ey o
EET

1. et et & (DNA S g 7
A) TF mRNA % 519 T DNA difz
B) T mRNA % T wfars DNA

C) 3 ANA e
D) @& mRNA % 81 T Yidfiiere
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Plasmid is a

A) extrachromosomal, self replicating,
double stranded, linear DNA of
bacteria

B) chromosomal, self replicating
double stranded, circular DNA of
bacteria

C) ‘extra nuclear, self replicating,
.double stranded, circular DNA of
bacteria i

- D) nuclear, self replicating, double
stranded, circular DNA of bacteria

Find out correct statement about Bt toxin

A) 'Bttoxin exists as an active compound
in the Bacillus’

B) Bttoxinis produced by cotton plant
to kil pest

C) The activated toxin enters into
ovaries of the pest and the pest
killed

D) The inactivated prototoxin gets
converted into active form in the
insect.gut and Kills the ifsect

Elution means
A) cutting and extraction of DNA
Umﬁ:% from:the'agarose gel
B) separation of DNA fragments on
agarose gel
C) making the DNA fragments visible
when exposed to UV light
D) isolating a desired gene from DNA
. of an organism

12. wfee o6
A) it s, e e, g
wide, sEeiiEn #1 Raw DNA
B) wiSITE, W e, gH s,
HERITET F1 ek DNA
C) aiftrr ~fFaar, = Mferwfén, g
WILE, EIET F1 Mahit DNA

D) ~ffRwR, R Werhfén, 3 wids,
ST 1 MR DNA

13. Bt ZifFe & o & weft wem
A Btz framfie 9 & w9 3 Im
Fed ware
B) Bt Zifeum Famd % ui g $ef
TR % forg Ieaife B s &
C) e % 3ienm ¥ fhanyiier i waw
ear ® 3 iz ww s 8
D) frmifa Wi B ime
% ®9 A wod SHIe & I A - W
TRET 2

14, & =1 Ao 8

A) 3TE ST § DNA 37 &1 H11 au
Frsmeor e

B) 3TTE It & SR DNA & gHST I
femre s )

C) UV frwmit § DNA & ge M 7ot
AT R

D) Sl &1 DNA B0 & aifea s #Y
TR HET
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15. One of the following supports declining
phase of a population
A) Mortality > natality
B) Natality > mortality
C) Mortality = natality
D) Natality-— mortality =0

16. Capacity of a plant cell to give rise to
whole plant body is known as

A) Reproduction
'B) Budding

C) Totipotency
D) Regeneration

17. A population has more than 50% in post
reproductive age group, according to
you such population is

° A) stable
B) declining
C) increasing
D) showing biotic potential

18. ADA deficiency .nm: be permanently
cured 3

A) Bone marrow transplantation
during infancy :

B) Enzyme replacement therapy at
the age of five

C) The infusion of genetically
engineered lymphocytes

D) The introduction of the ADA-
producing gene into the
embryonic stem cells

15. F=fefea i & v e & Froae &t s/men
o1 el FET R |
A) T > ST
B) SFAEX > Jogal
C) g = S
D) et —Hegat = 0
16, o =i 1 gmed S agel DY 9 s D
o o g 38 FEd 8l
A) FT
B) weifea
C) ifeare=t
D) FH

17. T&F AR % 50% Wiwa o 961 Y90 H &
TG I T & ; MY AR 6 TFR
it T R
A) f&r
B) geNaTE!
C)- sigdl
D) Side &mar i e@mare

18. ADA I =en i 36 g1 Wad &9 &
3= e s wan @ |
A) TR § Aot F TRITN F g

B) 9™ & &I 37 T wwIgH Nfaeum
Tafehea gra

C) TgaRs &9 ¥ gefifrr fermmmet

1 G

D) ADA- Jcuted S &t Yo ©H
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A0S
. Restriction endonuclease breaks bond
between _:n
A) Base pairs of DNA molecule

B) Sugar-phosphate backbone of
nucleic acid

C) Exons and introns in cistron

D) N-glycosidic bond between sugar
and base

. Select the wrong statement.

.2.0_.__. present n_m..q crop plants are
entirely different from their wild
ancestors

B) Almost all our present day crops
. are the result of selections carried
out by the prehistoric human beings

C) Seeds and plant,samples of only
genetically superior and cultivated
species are introduced from one
country to another

D) Genetic diversity of our crop plants
must be conserved

2

. The. restriction site recognized by
enzyme EcoRl is

A) CCGGGC
B) CTGCAC
C) GAATTC
D) AAGCTT

19. WREg TRt ¥F e FH
dga? |

A) DNA 377 3 7R Sie

B) it # Srft-wighe G H
(£

C) R o wEm i T
D) = o 98§ T-eienraies su

20. FH | e e MY |

A) R TdaF At & voe ¥ 0Y 3
it gk & e o &
B) v @l TR Fdae Al % wadt

rifeeTies TEsEt S 6 T ==
Ry &

C) St s w9 @ A ot A A

T STt s % s ot 7 ¥ w
T U o ¥ qEL 3§ whiR we
168

D) &R wae Grdi i sgaiies ffEa
F1 Hfer fn s =y

21. TIRA EcoR| 0 Yg=H1 T Ufo=y TmEe &

¥
e

Page No. 9 g

A) CCGGGC

B) CTGCAC

C) GAATTC

D) AAGCTT |
5CEB

Visit'CollegeDekho


https://www.collegedekho.com/?utm_source=resource&utm_medium=footer&utm_campaign=hyperlink

22. Which one of the following is not

23. Which of the following enzymes is not

- 24,

25,

correctly matched ?

A) Dengue Aedes mosquito
B) Malaria Female Anopheles
C) Amoebiasis Houseflies

D) Ringworm  Droplets

produced by E.coli during lactose
catabolism ?

A) B -galactosidase
B) Galactoside transacetylase
C) Carbonic anhydrase

D) Lactose permease

22, T | e Ao wEt e R 7

A) 9 = gt
B) Wit TR Giftkferd
C) afufsnfs  wiRaaf

D) ==’ Ll

23, = 9 ¥ = W doEe & v E. el %

T AT USAATE F AN e R
TR ?

A) p- Tefeew

B) feadids gmddeeaw
C) it TIeTey

D) e T

According to HGP, the. longest gene 24. HGP ¥ 3o u=d &a o § 399 s

consists of
E, 3, 164, 7 million base pairs
B) 3000 base pairs
C) 2968 base pairs

D) 2.4 million base pairs

In Mung bean, resistance to yellow .

mosaic virus and powdery mildew were 25. i H, ey g e IR e ey,

induced and developed by
A} Mutation breeding

B) Hybridization

C) Polyploidy breeding

D) Recombinant DNA technology
method

. B T
A) 3, 164, 7 i
B) 3000
C) 2968
D) 2.4 faferm

F wiedy T 3w Ik
frRm e mrd g

T.mno No. 10

o —

A) IfEdT o

B) W

C) uiclieemsel yoma

D) T: Hae e Wi @y
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26. Match the following :
Column i Column i
a. Gause p. Resource
partitioning
b. Connell g. Exclusion
£ . principle
¢. Mac Arthur r. Competitive

release

d. Verhaust-Pearl s. Logistic growth
curve

A) a-q,b-p,c-s,d-r
B) a-r,b-p,c-s,d-q
C) a-q,b-r,c-p,d-s
D) a-r,b-s,c-q,d-p

27. The Hardy-Weinberg principle explains
that the speciation is due to

A) Morphological changes
B) Chromosomal changes
C) Gene frequency changes
D) Acquired characters

28. Multiple alleles are characterized by

A) more than two alternate forms of
genes found at different loci

B) more than two alternate forms of
genes found on same loci

C) one gene occurs in two
chromosomes

D) none of these

mm..&&dﬂ@@_@ﬂ"
wWl wall
a. 34 nmﬂ_ﬁmﬂﬂﬂ
b. e q. iR frgra
c. U R r, st fefia
d. FElsR-T« s. ITEH g6 =

A) a-g,b-p,c-s, d-r

B) a-r, b-p,c-s,d-q

C) a-q,b-r,c-p,d-s

D) a-r, b-s,c-q, d-p

27. Ti-SFent fgia waman @ 5 dwfwo f
o8 B
A) TS HEd
B) ‘ST SEee

C) s amafee seaE
D) sfturdta avi

28, STt TRTS % W&V §H YHR Fal S
THA T
A) ffir S & O SRER @ It

Sepfcus S

B) T @ @t # WY sRaTe A & fiws
Apfeye SiF

C) T S & BiEsH T gas &
D) T | 1§ T

Page No. 11
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29. Which of the following is a mis-matching
pair of the disease and medicine ?

A) Emphysema - |-antitrypsin
B) Cancer — Alpha interferon
C) Blood clot — Streptokinase

D) AIDS - Penicillin

30. Identify the right pair of the extinct animal
with their country.

Animal Country

A) Dodo Russia
) B) Thylacine Australia
C) Quagga Mauritius

D) Stellar Sea Cow Africa

31. Which of the following is not a sexually
transmitted disease ?

A) Acquired immune deficiency
syndrome

B) Trichomiasis
C) Syphilis

D) Tetanus

29. T 8 11 e NS o TR SR 7
A) FwEhifa ~ | GARfEm
B) FH — ITeH ST
C) T 1 woh — R
D) AIDS - ¥fR=fm

30. g wiftn e 3% A wE SR A

wrfor L
A) 3= w4
B) e TR
C) Farm LIRS

D) ®oeR oz TH HTTeRT

31. 378 & 7 s AT R 7
A) TS T el figm
B) ¥wimaReg : |
C) faftsfera
D) 2&7@

——y
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A

in the womb of the mother the first heart
sound of the foetus can be heard by
Stethoscope at

A) First month of pregnancy-
B) Third month of pregnancy
C) Fifth month of pregnancy

D). Sixth month of pregnancy

. Read the statements and identify the
 right option.

Statement|: Mild foetal ejection
reflex is induced by
<t placenta.

Statement li: Foetal ejection reflex
triggers the release of
oxytocin from the
ovary.

A) Statement | and Il are correct
B) Statement|and Il are incorrect

C) Statement | is correct and Ii is
incorrect

D) Statement | is incorrect and |l is
correct .

32, ot % mf # yur & g 1 U AETS
D T F G o A e ?

A) e % gee WEH A
B) i & el AdA &
C) e & gfed W o

D) mfagen ¥ T wER °

33, FeRl F Tea, He fmed 9

FUA L TS YO S SfoEdd @t
wyder grn Y foma w21

w0 o iiadd e
. Y fiARE i fer &1

Eaoidd
A) o | ot 1l FE R
B) A | 79T || 7T @
C) Fu | W, T | T ®

D) =M | e, 9 1 TE R

r—,

Page No. 13

SCEB

L=

Visit CollegeDekho


https://www.collegedekho.com/?utm_source=resource&utm_medium=footer&utm_campaign=hyperlink

I
AR EER

34. Identify the incorrect statemerit 34. Ferfifas ¥ ¥ TRdTE gt Eock: gt

pertaining to nu:__.momﬁzﬁ.wm from the
following.

A) Most widely accepted :._m.._:on_m of
contraception in India is Intra
uterine devices

B) Surgical intervention blocks
gamete transport and thereby
prevent conception

C) Pills inhibit ovulation and
implantation as well as alter the
quality of cervical .:.Eo_._m and
retard the entry of sperms

D) 1UDs are useful only before the - .

coitus

35. The regression co-efficient for
frugivorous birds in tropical forests of

different continents is
A) 0.1

B) 1.5

C) 1.15

D) 1.75

A T.mum No. 14

S—

Teag ?

A) T TR ITHT I 3
mifEE % 4k W s vy @
AT ST 8

C) Mivwt fieieesi i s % amr-
are e e & ser Y o
et <t § 3R gt 3 v o Yl 2

D) Ecﬂ.&m@ﬁ%ﬁwﬁ@am

35. @fﬁ&&%ﬁﬂﬁ%imﬂﬁw
uiErt % forg sl wpon @

A) 0.1

B) 1.5

C) 1.15

D) 1.75

5CEB
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36. Diversity of which of the following given

u&cwmf..,m.qw ?mx.ﬁ::. ?
A) _.-.mm:.m.m
E.Mwmm
C) Fungi

D) Amphibians

37. idm oceanic carbon reservoir constitutes
A) 49%
B) 71%
C) 50%

D) 79%

38. More recembinants types are formed
when
A) the genes are located very near to
another on chromosome
E the genes located far away from
one another on chromosome

C) the crossing over is very less

D) the um:mm are located only on

-

Y-chromosome

36. f=ivfan # & fra wg i fflwm
aTferman 8 7

Visit CollegeDekho

A) 7
B) Y&
C) Fa%

D) 39g=X

37. A FEATANT H ____ TS F@IE |
_2 49%
B) 71%
C) 50%

D) 79%

38. it G:ESH SRR T &
A) S e 3 T g 3 e o
B) Sfin swmisim # T g A R @
C) it o7t 5 BT &
D) S Y-l # felra g @

A Tmﬁ Ne w 5CEB
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39. Em:e.? the correct combination showing

the blood group with their respective
antigens (sugar), antibody genotype
and special character.

Blood Antigen Antibody Genotype Special

Group present/ Character
.m:n!.

A) A B b I*18  Most
common
type

B) B A a 1818 Found only

inindia

C) AB AorB none A8 Co-
dominance

D) O Neither Botha 1919 yniversal
AnorB andb donor
40. Identify the mis-matched one.
A) CUU - Leucine
B) GGU - Glycine
C) GCU - Alanine
D) GAA - Valine
41.. Which of the following is not an example
for degenerate codon ?
A) Leucine
B) Alanirie
C) Tryptophan
D) Glycine

AN M

Visit CollegeDekho

39. T W P T W ¥R, G

SfHtey sit frdiy wiw & aw e sn
A wEr ) ETE @ |
@ ufem W@Eidt Reeee Aol
g e/ e ELE]
A) A B b (ol CI L
i
TER
B) B A a B8 I wma
T frearen
C) AB AorB ®RTdl |AB givefrear 7
D) O AWtT® a IO10 wrhitfirs |
Bofta@t @& b T _

40. T & I B 7 | |
A) CUU - Leucine
B) GGU - Glycine
C) GCU - Alanine
D) GAA - Valine

41. T F B9 a1 i T ¥ R e
TR

A) =i .,

B) TR

C) fedem

D) R | |

W_.nm No. dﬂ
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42. Which of the following is not a 42, 3T A B W ST IR 2
characteristic of Drosophila a2 7

melanogaster 7

A) 3 sEyer niRaaf 2

A) They are dioecious flies

B) The genes studied by Morgan B) W g1 e fomm wn i avem
found on different chromosomes ST ST o 91T e §

C) They show many types of heredity c) 3 ﬂ._wmwg T
variations

D) T T BRI W 9 9 SiET w56 H

D) They.complete their life cycle in
: T E

about two weeks

43. Read the statements and identify the | 43. %ol = gt qet s o |
right option :
SFEEE T FHeA | Fifered [SF & HA
Statement|l: Due to continental drift %Wﬂﬂmﬁ

pouched mammals of

Australia survived. LREiA

Statement il : South America joined woN:  Sf SRR, ST TR
North America due to : F Y Hlireied SR F
continental drift. H e |

A) Statement | and |l are correct A) Fo | T || |

B) Statement! andl are incorrect .
B) 9+ | @9 Il TTera

C) Statement | is ac.zmﬁ and |l is

incorrect C) =vA | &t au1 %M Il 7era
D) Statement | is incorrect and |l is D) %A | TTod a91 %e || FeEl
correct
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44. Identify the mis-matched one. 44, #4%  ve=iT |

A) Australopithecus — hunted with
stone weapons

B) Homo habilis ~brain capacity 650 cc
C) Homo erectus — ate meat

D) Modern man arose — 10 thousand
years back

&ﬂﬁ%ﬁ@ﬂm:ﬁ%w@ﬁm&ﬂﬂ
MH_.__ L .

B) e Efafora — witash = wmref 650 cc
C) oril Waed — wim @ §
D) MY HiTa T — 58 S a1 Tee

45. Which of the following contains only 45, T } o i saitfen emfdse 2 7

bacterial disease ?

A) Oroiﬁ. Typhoid, Pneumonia
B) Malaria, AIDS, O___o_m:.ﬂ._

C) Typhoid, Tuberculosis, influenza

D) Diabetes, Malaria, Syphilis

A) s, TwEs, R
B) Wi, Tgm, SR

C) TREES, TaGaed, TR

D) emferdiw, wafan, fufsferg

46. Select the correct statement. 46. w8l 9T B g |

A) Acetobacter aciti produce citric
acid

B) Saccharomyces cerevisiae is used
as clot buster

C) Penicillium notatum restricts the
growth of staphylococci

D) Methenogens are found in aerobic
conditions

Page No. 1
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B) GrRimTEa TR 1 3 o
T H e H g s g

C) ¥ Meen R H 3fy
iyl e g

D) g Gl wrerd & uTa Ty
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47. Read the statements and identify the
right option.

Statement l1: Human liverfluke
depends on two
intermediate hosts they
are snail and fish.

Statement Il . The life cycle of
Endoparasites are very
simple because of their
extreme specialization.

~ A) Statement | and Il are correct

B) Statement | and Il are incorrect

*

C) Statement lis correctand Il is
incorrect

D) Statement | is incorrect and Il is
correct

48. In the DNA io_mngm

A) the proportion of adenine in relation °
to thymine varies with the organism

B) there are two strands which run
antiparallel one in §' — 3'.direction

47, F9 Y 98 R Tt e i

wuT | iﬂﬂﬁ@u&ﬁﬂmﬁ&ﬂ
3it et Ao W AR wa E |

oA | : I 9 Frshwman & wor @&
UEitwseH & Sfien = agd g

& E
A) F97 | 797 || |&
B) & | 7o 11 7T
C) 9+ | |8, |l e

D) &4 | e, 1| Tt

48. DNA 317
A) & 3 Hete § R o S S

|1Y SISl @&l 8

B) & et € Y 5' > @ 1 e § afk
3 8 — 5 R e de a8

and other in 8 — &' direction C) Hiin fFviersey i uEiifteE
~C) the total amount of purine fReEER i 3% AT T
nucleotides and pyrimidine ¥ el
nucleotides is not always equal T Tt
D) Emzw_ m”qm ﬁ_..“...ommz.m:amnizo: run D) & fret § s 5 — 3" R & wmwRR
arallel in the 5' —»3' direction ,
: 3 §
A Tumnm No. ._wq 5CEB
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49. Which one of the following is wrongly
matched ?

A) Transcription —Writing information
from DNA to tRNA

B) Translation — Using information in
mRNA to make protein

C) Repressor protein — Binds to
operator to stop enzyme synthesis

D) Operon - Structural genes,
operator and regulator

. 50. Select the incorrect statement.

A) Hybrid seeds must be produced
every year to obtain maximum
advantages of heterosis

B) Heterosis is lost by inbreeding

C) Apure-iineis the progeny of alarge
number of heterozygous self
pollinated plants

D) Genetic diversity is being or is
likely to be used in the
improvement of domesticated

plants

A

49, AT A INAR ?

A) ReET - DNA ® tRNA T gaiii =t
o

B) 3aTE — mANA & g3t &1 39
TF WA FAHT
C) el SIEH —USTRH A¥er ol il U
- & foT STTadet =Y =i
D) TRUT — TTEHS S, ATt 3R
s

50. 398 ¥ TeTd HUH T |

3%&%%3%#
1 et 9 gt off =1 IeureA R
AT =TRY

B) 20 weNfa YA 210 TR B W R
| C) TF & O $eUe Tqamiore el
HI T TS G i dae &
D) ﬂﬂmﬂ@@iﬂﬂmﬂ&&w@ﬁ
o 39 B it EarET ®

>
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